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1. JfPPR & YPR Bd & : 1. Types of authority are :

(A) 3 (A) 3
(B) 5 (B) 5
© 7 ©€) 7
(D) 9 (D) 9
2. TN fhaT W Al ® 2. Delegation can be done of :
(A) STREIE B (A) Responsibility
(B) JMTBR @I (B) Authority
(C) aEce! & (C)  Accountability
(D) SUgad JHI (D) Al of the above
3. JIYUROT B dhlh arerar fafer € 3. Methods of key or tools of motivation is :
(A) URIGT RT SAMTROT (A) Motivation by change
(B) TRMIATT §RT SIMATRYT (B) Motivation by participation
(C) AR ERT SAMIRTT (C) Motivation by challenge
(D) Sugad F4I (D) All of the above
4. U TF Al e O 4. A.H.Maslow was the resident of :
(A) WRT G (A) India
(B) 3R® & (B) America
(C) WU+ & (C) Japan
(D) SUYa H A Bl 7l (D) None of the above

C010201T (3) Set-C



5. 3IfH ST B ©
(A) T IS §
(B) HHTANI HITSH
(C) T (A) 3R (B)
(D) SWE ¥ | FIg el

6. SMITAR® e Far § ?
(A) I
(B) HHANI
(©) @
(D) SW@ ¥ ¥ I T
7. TSGRV B AY §
(A) BT B H gig
(B) IRV &I 311G
(C) <F& Frf H gfg
(D) Sugad F4I

8. fAo=IHRor & SfeTT qaTsy

(A) Refa

(B) e # fiRm@e
(C) THa=u

(D) SUYa H A Bl 7Tl

C010201T

(4)

Maximum discipline exist in :
(A) Line organisation
(B) Staff organisation
(C) Both (A) and (B)

(D) None of the above

What is informal organisation ?

(A) Personal
(B) Staff
(C) Line

(D) None of the above

Disadvantage of centralisation is :

(A) Increase in paper work
(B) Lack of Incentive
(C) Increase in routine works

(D) All of the above

Point out the features of decentralisation :

(A) Position

(B) Fall in morale

(C) Control

(D) None of the above

Set-C



9. ST YIRI & IY-UR H FH R © | 9. Work load to top management reduces :
(A)  DIBR (A) Centralisation
(B) fadm=iia=u (B) Decentralisation
(C) Gl (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above
10.  9RMYoT fHar S & 10. Delegation is made to :
(A) SAEHIRAT BT (A) Officers
(B) 3pEiwRel @I (B) Subordinates
(©) T (A) 3R (B) (C) Both (A)and (B)
(D) SWE ¥ | TS el (D) None of the above
11. fovrfiexo 9 el & 11.  From departmentation is :
(A) &F B Fara (A) Wastage of money
(B) I @I qaial (B) Wastage of time
(C) STl @I qaial (C) Wastage of resources
(D) Suga H A Bl 7Tl (D) None of the above
12. MR IWa @ : 12. Departmentation is suitable for :
(A) T @ & forg (A) Large Industries
(B) g SEMl & forg (B) Small Industries
(C) HCR AN & forg (C) Cottage Industries
(D) SUYa H A Bl Tl (D) None of the above

C010201T (5) Set-C



13. fIURIARUT &7 HHaIRIT W U919 sl 13. The effect of departmentation on workers

2 is:
(A) BT H g (A) Increase in inefficiency
(B) Hfi® U= (B) Moral decay
(C) oY SEml (C) Small industries
(D) SuYa H H Bl el (D) None of the above
14. fOrfieo & JeRI & 99 € ¢ 14. Name the types of departmentation :
(A) RIS fqHRTTHRoT (A) Departmentation by Numbers
(B) UTRPITAR ICCIRIERI (B) Departmentation by Customers
(C) \HITIAR JIITepRoT (C) Departmentation by Time
(D) Sugad Fl (D) All of the above
15.  fourfievor @ T o™ g 15. The main advantage of departmentation
IS :
(A) IT9I H WRRI (A) Aid in co-ordination
(B) = (B) Control
(C) YU (C) Products
(D) Suga H A Bl 7Tl (D) None of the above
16. dRfAD faunfreoy o RmRE 16. Departmentation by function is based
% | on........e..e.. .
(A) TaRm@Ro (A) Specialization
(B) fawqgd (B) Wide
(C) ®ier (C) Narrow
(D) SUYa H A Bl 7l (D) None of the above

C010201T (6) Set-C



17. SAIHAD SHIS g9 & oI fhamel @ 17. Grouping of activities to form an

?ﬂﬁ'ﬁﬁ\’ﬂ .................... e 2| organisational unit is known as .............
(A)  fomfiaxom (A) Departmentation

(B) 3T=NUl (B) Delegation

(C) THI (A) 3R (B) (C) Both (A) and (B)

(D) SWE ¥ | TS el (D) None of the above

18. Wéﬂﬂ?ﬂ'\’ favTepvoT PIECIRRSIN 18. Departmentation by function is .............

Fmiaror 1 qerT N popular than  departmentation by
§| customer.
(A) 3D (A) More
(B) @H (B) Less
(C) (C) New
(D) SUYd H § I el (D) None of the above
19. foharceid A6 & SR § ¢ 19. The founder of functional organization
is :
(A) TR (A) Taylor
(B) T (B) Appley
(©) <0 (C) Terry
(D) HIA (D) Fayol

C010201T (7) Set-C



20. SHTSATH® RO & YU © 20. The forms of organizational structure

are :
(A) 3 (A) 3
(B) 5 (B) 5
€ 7 < 7
(D) 8 (D) 8
21. Y[ G G 6 w9y ¢ | 21. Line organisation is the ............... form
organization.
(A) 9T (A) Oldest
(B) 341?:1[%125 (B) Modern
(C) Tl (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
22. Gffy Frea § 9mmadar 9ffaar oo 22. Generally the committees  under
wﬁaﬁgﬁ—cﬁ% committee organisation are of ..........
nature.
(A) WML (A) Advisory
(B) BRIGRI (B) Functional
(C) @ (C) Line
(D) UrEaH (D) Oldest

23 “gifiFeell @ UY-USIE 9l UUde @l 23. “Direction is the executive function of

TE B & RS FEaE 217 e guiding and observing subordinates.”
This statement is of :

FH T

(A) THel BT (A) Appley

(B) &UCH Td 3AUSHA Bl (B) Koontz and O’Donnell
©) <l a (C) Terry

(D) WaIel Bl (D) Fayol

C010201T (8) Set-C



24,

25.

26.

217.

T @7 3R ©

(A) g

(B) dI

() favfae

(D) SWE # W B &l
TR R & ?

(A) TE T GG Ul 7 |
(B) UT Udh |l UlshT 2 |
(C) T8 & fguriia ufbar & |
(D) Suda Wl

T aed UfhdT & $eH /I B ©

(A) 3
(B) 5
(C) 7

(D) 9

FREAIET & JAH JEPR B @ -

(A) 2
(B) 4
C) 5

(D) 8

C010201T

(9)

24,

25.

26.

27.

Base of planning is :
(A) Forecasting

(B) Selection

(C) Decision-making

(D) None of the above

What is Communication ?

(A) Itis amanagerial process.
(B) Itis a continuous process.
(C) Itisatwo-way process.

(D) All of the above

The steps/elements of communication

process are :
A) 3
B) 5
€ 7
D) 9

The minimum parties to communication

are :
(A) 2
(B) 4
©C 5

(D) 8

Set-C



28.

29.

30.

C010201T

U H T G glae $T He ©

(A) EER B GeAaRed BRI
(B) ~gGH AT TR ST Icure

(C) qg<a fohar 1 SR
(D) Suda Wl

“gravrared o A1 QW G Aldddl @
ey e, foaRi, wwfaal smerar wraee
@1 fAfg 217 T8 B & :

(A) YT T FHR S

(B) oS U Ve @I

(C) X @

(D) Suga H A Bl el

Tl RN B ‘wige’ fow e
T

(A) TS O W, |

(B) 9UHM U4 TN A

(C) fpform =9

(D) SWad # | BIS T

(10)

28.

29.

30.

Importance of effective communication

in management is :

(A) Organised business procedure

(B) Maximum production at the lowest

cost

(C) Basic for Leadership Action

(D) All of the above

“Communication is an exchange of facts,
ideas, opinions or emotions by two or

more persons.” This statement is Of :

(A) Newman and Sumner
(B) Louis A. Allen
(C) Terry

(D) None of the above

PRIDE model of effective

communication is given by :

(A) Floyd James J.

(B) Vardhaman and Vardhaman

(C) Philip Morgan

(D) None of the above

Set-C



31, 9T RN & RIgdl § 9 e Rigra 31. First principle of effective

=1 communication is ............... .
(A) FDRIHD (A) Positive
(B) tedm (B) Clarity
(C) TPRIHD (C) Negativity
(D) SWF &l (D) All of the above

32. unfsgd dfeargar I g 2 | 32. Sematic problems are related to .......... .

(A) T I T (A) Badly expressed massage
(B) WIS ¥ (B) Emotional massage
(C) Tl ya (C) Hello effect
(D) SWE ¥ | TS el (D) None of the above
33. 3INUT quaTﬁ e ORI R | 33. Unqualified assumptions are related
[ (0 I .
(A) HIfd® 3R (A) Physical barriers
(B) cOfdwTa Sraiel (B) Personal barriers
(C) 3T 3Rl (C) Other barriers
(D) SUYa H § I Tl (D) None of the above
34. ‘YA g’ gHRd E 34. ‘Reputory relation’ is related to :
(A)  TTSHIED AR o (A) Organisational barriers
(B) fITTa SRl (B) Personal barriers
(C) W 3Rl | (C) Physical barriers
(D) SUYa H A Bl 7l (D) None of the above

C010201T (11) Set-C



35.

36.

37.

38.

IR JawT I T AT § ?

(A) favg=raar

(B) IeH

(C) g

(D) W A W 3T T
oRad @1 foxr i fomam S § ?
(A) T

(B) %]
(C) =l (A) 3R (B)

(D) SWE ¥ | TS el

IR BT IIR T -

(A) STE TRl § gRacH
(B) St H gRadw

(©) fdaf aRadH

(D) SHIE W

eIy R faar 9 €
(A) e

(B) V&

(©) fawr

(D) SWad # | BIS T

C010201T

(12)

35.

36.

37.

38.

What is meant by management of

change ?

(A) Credibility
(B) Context
(C) Content

(D) None of the above

Why is change resisted ?

(A) Management
(B) Product
(C) Both (A) and (B)

(D) None of the above

Type of change is :

(A) Change in external environment
(B) Change in objectives
(C) Personnel changes

(D) All of the above

Managerial control is done :

(A) Optional

(B) Management

(C) Marketing

(D) None of the above

Set-C



(D)

S U B T

40. =1 ufhdr & I €

(A)
(B)
(©)
(D)

4

6

8

10

41, ‘FEIor v
RERIS 2 |

(A)
(B)
(©)
(D)

42. YTHH e I @l

AhRIHD

THRIHD
Ree]l

IR

el 2 |

(A)
(B)
(©)
(D)

C010201T

IR
GiE|E!
ER

Swad # ¥ Plg T

(13)

39.

40.

41.

42.

Control is a/an .............. managerial

function.

(A) Compulsory
(B) Necessary
(C) Optional

(D) None of the above

Control process elements are :
(A) 4
(B) 6
(C) 8
(D) 10

The word ‘control” signifies the

................. approach.

(A) Positive
(B) Negative
(C) Line

(D) Modern

Managerial audit is a/an ........... system of
control.

(A) Modern

(B) Accounting

(C) Budget

(D) None of the above

Set-C



43, RO @R et g WY ¥ 43. Control and ... are  closely

et ¥ associated.

(A) fauuE (A) Marketing

(B) oG (B) Accounting

(C) Hq« (C) Money

(D) SWE ¥ | TS el (D) None of the above

44. “SIINOT GIcdRE O Jufed SN 44, “Motivation is a process of stimulus and

T R %\r " T8 T % _ response.” This statement is Of :
(A) TfoR¥ U9 TelveR &l (A) Julius and Schlender

(B) TRIA IEA B (B) Carroll Shartle

(C) @ (C) Terry

(D) Suga H A Bl el (D) None of the above

45, ﬁ?ﬁ[ el =foRad & 9 - 981 45.  Which of the following is not a leadership

37 style ?

(A) APIRS (A) Motivational

(B) Wide (B) Supervisory

(C) UdEdHIT Yresred (C) Managerial support
(D) SUYa H A Bl 7l (D) None of the above

C010201T (14) Set-C



46. ﬁ?ﬁ[ BT Sl Sl 9D T Y WREYT ® 46. The leadership style which is based on

aaRa B & el © consultation with his group is called :
(A) SAdHATHD Kl (A) Democratic style

(B) aqfﬁ ﬁ?cl?c[ el (B) Paternalistic style

(C) TRaw el (C) Autocratic style

(D) SUga H H Bl el (D) None of the above

47. “ﬁT-cl?c[ AT B Y9Ifdd YT BT Teh UfehaT 47. “Leadership is defined as the activity of

S B 3 TR S B O 3 influencing people to strive willingly for
3 f o T e mutual objectives.” This statement is of :
B T

(A) SIS 3R, S @ (A) George R. Terry

(B) T @1 (B) Allen

(C) G (A) 3R (B) (C) Both (A) and (B)

(D) SUYd H § I el (D) None of the above

48. “dT Udh e DT da Il g o 1o 48. “Leader is member of a group who is

e Te YeM frar 9T £ ok 98 o given a certain status and exhibits
behaviour appropriate to the position he

Ug & %Y AIER YSRId HRaT 21”7 g

occupies.” This statement is Of :

BU ¢

(A) Tfeds TMeeR @I (A) Alvin Gouldner

(B) ¥ TUT Nl Bl (B) Mooney and Rayleigh
(C) Teld @l (C) Allen

(D) SUYa H A Bl 7l (D) None of the above

C010201T (15) Set-C



49. fordc & AR ~Igd @l

dferit & € |
(A) 4
(B) 6
€ 8

(D) 10

50. fofe @1 UaweT Yomfordr & :

(A) 8
(B) 4
C) 2

(D) 6

51. dfc® yaes &1 3ef g
(A) ¥
(B) fauor
(C) THI (A) 3R (B)
(D) SWYad # | BIg T2

52. ‘w1 faal @1 e 9 & axqgeil

BT FAeIM|” I8 P ¢

(A) N Tl T

(B) f=¥ Ueld @I

() oA

(D) SUYa H A Bl 7l

C010201T

(16)

49.

50.

51.

52.

There are ............. leadership styles as
per Likert.

(A 4
(B) 6
©€) 8
(D) 10

Likert’s management systems are :
(A) 8

(B) 4

€ 2

(D) 6

Meaning of Vedic Management :
(A) Languages

(B) Marketing

(C) Both (A) and (B)

(D) None of the above

“Management is the development of
people and not the direction of things.”

This statement is of :

(A) L. Appley
(B) Louis Allen
(C) Terry

(D) None of the above

Set-C



53. ffafEd # & dF-91 ye Uik &
W TE E 7
(A) I=
(8 frrm
(C) wTed

(D) fduvH

54. U9 P SATITIDT I R :
(A) FH ®R W
(B) EUW ¥R W
(C) ST TR W
(D) ¥ ®R W
55. ¥ B B SR e UfhAT @
yrIfie B €
(A) 2
(B) 4
(€ 6

(D) 8

56. fRHfIRGT H W DHI-T BAT 3G & ?
(A) ¥ @fia ¥ e T8 2|

(B) oA |
(C) ¥I Wdf® © |
(D) SWad # | BIS T

C010201T (17)

53.

54.

55.

56.

Which one of the following is not the part

of management process ?

(A)
(B)
(©)
(D)

Control
Planning
Organization

Marketing

Management is needed at :

(A)
(B)
(©)
(D)

Lower level
Middle level
Top level

All levels

According to Henry Fayol the primary

functions of management process are :

(A)
(B)
(©)
(D)

2

Which of the following statements is

inconsistent ?

(A)

(B)
(©)
(D)

Management is not different from
ownership.

Organisation.
Management is universal

None of the above

Set-C



S7.

58.

59.

60.

C010201T

“Ue qEY ATl W B U SR
T|” IT B B :

(A) Th. S, CoR &l

(B) TIN% Tdl. ™™ @

(C) e Tl WeH @l

(D) S ¥ 3 K T

U T

(A) Fel

(B) fasm

(C) G (A) 3R (B)
(D) STda # & Big AL
“Uqw] FT AP I | 217 I” FUR
g

(A) I\ R @

(B) IR Al Sfad @
(C) G (A) 3R (B)
(D) SWA H ¥ D T

BRI B9 & AR Yawl &l SFEROM
g

(A) 4

(B) 6

©) 8

(D) 9

(18)

57.

58.

59.

60.

“Management get things done through the
people.” This statement is of :

(A) F.W. Taylor

(B) Joseph L. Massie

(C) Peterson and Plowman

(D) None of the above

Management is :

(A) AnArt

(B) Science

(C) Both (A)and (B)

(D) None of the above

“Management means decision-making.”
This statement is of :

(A) Ross Moore

(B) R.C. Davis

(C) Both (A)and (B)

(D) None of the above

According to Theo Haimann the concepts
of management are :

(A) 4

(B) 6

(C) 8

(D) 9

Set-C



61. ScUTeT Yaw, Ggw Py IFRIRE 61. Production management is a/an .............

functional area of management.

e

(A) FoH AEAYOl (A) Most important

(B) WM (B) Ordinary

(C) ITaID (C)  Unnecessary

(D) SUYH H ¥ Blg el (D) None of the above
62. THcoIaT & SIAR Yaea ™ YHam 3 - 62. According to Mintzberg managerial roles

are :

(A) 2 (A) 2

(B) 3 (B) 3

(C) 4 €) 4

(D) 5 (D) 5

63. U9 E2l RIEINET RRECIR] 63. Social responsibility of management

3. is:

(A) DI WIR & Ufd (A) Only towards government
(B) $ad Y9G b ufa (B) Only towards consumer
(C) @ad T & W (C) Only towards society

(D) Sy |41 & Ul (D) Towards all of the above

C010201T (19) Set-C



64.

65.

66.

C010201T

TS AN BT TE B @ -
(A) 3RS

(B) HHAIRAT BT FRYfaa o=

(C) Y AN & FHD AT
(D) SR ¥ A P T

N WA NI mfduied WARH @
Rrgr € -

A) 4

(B) 6

) 10

(D) 14

“i e g el W RIS den
=07 BRI BT TANT B |7 IS B B

(A) TS Td U Bl
(B) TH. Se&cg, BT bl
(C) oFWd Sl W @
(D) SUIH H ¥ Plg el

(20)

64.

65.

66.

The main function of liason is :

(A) Unnecessary

(B) Appointment of employees

(C) Contact outside public

(D) None of the above

Principles of administration enunciated

by Henry Fayol are :

(A) 4

(B) 6

(C) 10

(D) 14

“Financial management is the application

of the planning and control function to

the finance functions.” This statement is

of :

(A) Howard and Upton

(B) M. W.Cumming

(C) Thomas G. Spates

(D) None of the above

Set-C



67. e Y BT P T 67. Function of production management is :

(A) ST faoH (A) Production planning
(B) ScUTGH =01 (B) Production control
(C) wF fd=ard (C) Plant layout

(D) Sugad FHI (D) Al of the above

68. “fass @ I AT JdT b AT A 68. “Advertising can be described as the art

of creating a demand for article of a

B DY heAT el ofldl 2|7 IE HUA T

service.” This statement is of :

(A) NI T, SifeliT @1 (A) C.L.Bolling
(B) faferw W, ved @ (B) William J. Stanton
(C) ¥ UG R @ (C) Bethel and Smith
(D) SUYa H H I el (D) None of the above
69. Jfaafia yewr &1 B B - 69. Function of personnel management is :
(A) I BT I BRAT (A) Payment of dividends
(B) VEHDI B A UgAMI (B) Advantage to management
(C) G (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

C010201T (21) Set-C



70. BRI BT BT TH GAT oA -
(A) ERFT A
(B) WRd H
(C) Wi H

(D) A H

71 “T%. T, CoR @ GRS “OE e

(A) 1911
(B) 1903
(C) 1904

(D) 1906

72, JSN® U & D O

(A) ThwTe
(B) 3fd®
(C) TN B

(D) TP. 3=, ok

C010201T (22)

70.

71.

72.

Henry Fayol was born in :

(A) America

(B) India

(C) France

(D) Germany

“Principles of Scientific Management” a

book written by F. W.

published in the year ............

(A) 1911

(B) 1903

(C) 1904

(D) 1906

Father of Scientific

was .

(A)  Kimball

(B) Urwick

(C) Henry Fayol

(D) F.W. Taylor

Taylor was

Management

Set-C



(A) Hifed

(B) R-Hife®

(C) G (A) 3R (B)
(D) STda # & Big AL

74, TeeAd WA BT TR T
(A) ©UH
(B) 3R
(©) sirferan
(D) WRd
75. HAERANGI GRCHIT T & ?

(A) SIS geaI

(B) g fasm gftcar

(C) HIdA gftcaIo

(D) ST W

C010201T

Rl Bl

(23)

73.

74.

75.

There is provision of ........... incentives

under scientific management.

(A) Monetary

(B) Non-monetary

(C) Both (A) and (B)

(D) None of the above

The birthplace of Elton Mayo is :

(A) Japan

(B) America

(C) Australia

(D) India

What is behavioural approach ?

(A) Sociology approach

(B) Anthropology approach

(C) Psychology approach

(D) All of the above

Set-C



76. 4TS BT B 76. Planning is :

(A) TrHBTIA (A) Long-term
(B) DI (B) Middle-term
(C) 3TcTIei (C) Short-term
(D) I erafeRi & forw (D) For all terms

77. “fFRoE 9fdY @ Udsd & ot 99l 77. “A plan is a trap to capture the future.”

. This statement is of :
T fiSRT 8 1”7 I8 H9F ®

(A) Tl @ (A) Hurley
(B) T @1 (B) Allen
© Aar (C) Terry
(D) Suga H A Bl 7Tl (D) None of the above

78.  ‘OSM® YEwy e YW IR YANT fda 78. The term ‘Scientific Management’ was

T first used in :
(A) 1876 H (A) 1876
(B) 1903 H (B) 1903
(C) 1915 ¥ (C) 1915
(D) 1918 H (D) 1918

C010201T (24) Set-C



79.

80.

81.

C010201T

TRINIA® Ya= &1 31 B

(A) s

(B) il &1 fReRor a=Am

(C) B & YAl BT e &=
(D) S F ¥ B T

Sifel 3R, S & AR RIS & JaR
g

(A) 4

(B) 6

C) 8

(D) 10

i Frl [y A forg
Bl B

(A) e

(B) Talal

(C) dfshar

(D) ddfeud

(25)

79.

80.

81.

The function of administrative

management is :

(A) Planning
(B) Setting the policies
(C) Setting the standards of work

(D) None of the above

According to George R. Terry, the types

of planning are :

(A) 4
(B) 6
(C) 8

(D) 10

Policy decisions are generally ..............

decisions.

(A) Group

(B) Individual

(C) Process

(D) Alternatives

Set-C



83.

84.

85.

C010201T

B e e T %\l 82.

(A) dHID!

(B) figr

(C) =HI (A) 3R (B)
(D) SWE ¥ ¥ FI5 T

“U YqwIdH BT Olige ad U o @ 83,

foham 817 I8 P T

(A) T

(B) R. TH. SIR B
(C) P @I

(D) SWH # W B &l

fafre faoi faferdt § - 84.

(A) W
(B) IITd¥TD

(C) HI (A) 3R (B)
(D) SWad # | BIg T2

“ofy =T el & 90 T9= 217 I8 85.

FH T

(A) UIeR Uh. $IR Bl

(B) TEC U. ATSHT @l
(C) 3R, T4 SR &I

(D) SWad # | BIS T

(26)

Brainstorming is a decision .........

(A) Technique

(B) Principle

(C) Both (A) and (B)

(D) None of the above

“The life of a manager is a perpetual
choice making activity.” This statement
is of :

(A) Terry

(B) R.S. Davar

(C) Drucker

(D) None of the above

Specialised decision methods are :
(A) Ordinary

(B) Unnecessary

(C) Both (A) and (B)

(D) None of the above

“Decision is the selection among different

alternatives.” This statement is of :

(A) Peter F. Drucker
(B) Herbert A. Simon
(C) R.S.Davar

(D) None of the above

Set-C



¥ UE @

T BT 2 |

(A)

(B)

(©)

(D)

i
gl
g
ST W B T

87. “Sew NI Ud 3if~qm uRum 21”7 Ig

FH T

(A)
(B)
(©)
(D)

QP Pl
Ul @l
SIEREC

il

88. “Idlcd U WY BRUM Ugiodr @l

TERIAT & ded Ul Bl GHN gRT aifod

RGN H WUIRT & | E 17 T8 FUA

g
(A)
(B)
(©)
(D)

C010201T

J2reT R9T U9 399 @l
N @
Tol &1

S[R DT

(27)

Selection of one out of two or more

............... is decision-making.

(A) Alternatives

(B) Principles

(C) Processes

(D) None of the above

“Management by Objectives is the final
result.” This statement is of :

(A) Drucker

(B) Allen

(C) Davar

(D) Terry

“The transformation of raw materials by

factory method into thing wanted by

society.” This statement is of :

(A) Bethel Smith and Others
(B) Terry
(C) Allen

(D) Davar

Set-C



89.

90.

91.

“ILT ENT UaY & I W a1 gN

Ug Bl dehrilol o] B W |7 Ig Gerd

fear g

(A) IR TH. SR
(B) TH. &. Wl
(C) T. UH, §T3H

(D) X
Tmferd Ao e 2
(A) el

(B) HEIBICI

(C) 3BTl

(D) ST # | IS T

SUHH H GG Pl AT el 2

(A) STaadd ye
(B) HEIH UEHI
(C) T+ vawg

(D) ¥dlcIh HUSA

C010201T
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89.

90.

91.

“Management by action technique should

be applied instead of management by

2

objectives.

given by :

(A) R.S. Davar

(B) N.K. Sethi

(C) A.M.Brown

(D) Terry

Corporate planning is :

(A) Long-term

(B) Middle-term

(C) Short-term

(D) None of the above

In an enterprise  organization

established by :

(A) Top management

(B) Middle management

(C) Lower management

(D) Board of Directors

This suggestion has been

Set-C



92.

93.

94.

C010201T

“Tdad eAAS ORI ATaaTd

fYSITe @I Ao & TAT Il dd b S

T R odl 817 I8 B ¢
(A) 59 @
(B) Tefd @I
C) @

(D) RIX BT

e U & I T F1§ ?

(A) a9

(B) famwiaur

(C) JNTTIRG FH=IT &I AT
(D) SHF W

TG 1§ 7

(A) 9

(B) WM /HA

(C) @HI (A) 3R (B)

(D) SWad # | BIS T

(29)

92.

93.

94.

“Wrong organisational structure prevents
business performance upto the extent that

it.” This statement is of :

(A) Brech

(B) Allen

(C) Terry

(D) Drucker

What are the Kkey elements of

organization process ?

(A) Departmentation

(B) Decentralisation

(C) Self formal relation

(D) All of the above

What is an organisation ?

(A) Product

(B) Goods

(C) Both (A) and (B)

(D) None of the above

Set-C



95.

96.

97.

C010201T

fy=forRad & A DH-|1 T SIS BT
Th bR 78l 8 ?
(A) 9d

(B) HTTEg

(C) Yo yare!

(B) 3FIT=IR® e
(C) =M (A) 3R (B)

(D) SWad # | BIg T2

MY TS & eTo |T 8 2

(A) S B wiftd

(B) =1 @1 I &7
(C) faRmaRu

(D) ST W

(30)

95.

96.

97.

Which among the following is not a type

of communication network ?

(A) Circle

(B) Chain

(C) Free flow

(D) Triangular

Classification of organisation is :

(A) Formal organisation

(B) Informal organisation

(C) Both (A) and (B)

(D) None of the above

What are the characteristics of an ideal

organization ?

(A) Realisation of objectives

(B) Reasonable span of control

(C) Specialisation

(D) All of the above

Set-C



08. GG B IeIY HT & ? 98. What is the purpose of the organization ?

(A) T DT W § TN BRAT (A) Assist in achieving goals
(B) fduvH (B) Marketing
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above
99. VEHHIT HRBR BT Rigrd &1 & ? 99. What is the principle of managerial
authority ?
(A) SivaRe AffieR Rigrd (A) Formal Authority Theory
(B) &7aT g (B) Competence Theory
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
100. STREIT & YHR 77 8 ? 100. What are the types of responsibility ?
(A) Wadq IR (A) Continuous Responsibility
(B) Tfd9Iy STRaIRIE (B) Specific Responsibility
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) Suga H A Bl 7Tl (D) None of the above

C010201T (31) Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wemdt & 89 aRi fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, T7 Tl H 3T MRaR fodm M1, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & 3ramar =9 ®el W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 el @l
AaIgdd U foram S |

e T & SWa Wendt v MRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Sl wurReT § f=Tar g9 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

&
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£
o
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|
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